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Select the correct alternative of the following questions.

Q1. The principal value of cos‘l(_?l) is
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Q2.  The principal value of cosec ™' (—V/2 ) is
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Q3. The principal value of cot ™! (%) is
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Q4. The principal value of tan~(— +/3) is
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Q5. The principal value of cot‘l(%) is
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Q6. The general value of sin‘l(\/;) is

a. nm—(—1D" g b.nm+ (—1)" g c.nm+ (—1)" % d. none of these
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The general value of cos™1(—1)is

a. 2nm+ g b. 2nm + g c.2nm+m d. none of these

The general value of cot ~1( —/3 ) is
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a. nm+ - b. nm — - c.nm + 5 d. none of these

If 2tan"1x = sin~! k, then the value of k is

1—x2 2x ¢ 2x
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d. none of these
-11 -11
tan 2 + tan 3

a. % b. d. none of these
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Which of the following is the value of cot{ficosec™2 + cos™! %)

a. 1 b.0 c.-1 d. none of these

Which of the following is the value of i{icos™* % + 2sin 1 %)
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Which of the following is the value of (cos 1;+ cos™! }—,), where sec™1x = cosec™ly

a. T b. 2?” C. 5?" d. none of these
Which of the following is the value of ( sin™!'x — cos™1x = %)
1 b. - d fth
a 5 ¢ 75 . none of these

Which of the following is the value of tan—{{fitan™'x + tan™! %) for x>0,

b. V3 c.1 d. none of these
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